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M Ed. Enterance Exam (Departmental) 2016-18
Qvg 1 (Part1)

fawa : Logic/General Aptitude Questions : 20

1.

foet i Hmr % GROWTH BT ‘Hspxur forar wrar ® oI ‘FOUR’ 91 ‘Gpvs’ forar T
2| S WiHfAs 9T F ‘PROBLEMS B b YR forar sirgar?

(31) QSPCMFNT (@) aanNCcMDNR  (|) QQPAKDNR () QQPAMDNR

In a certain code language ‘GROWTH’ is written as ‘HSPXUY and ‘FOUR’ is written as ’GWS’. How
is “PROBLEMS’ written in that code | anguage?

(A) QSPCMFNT  (B) QQNCMDNR (C) QQPAKDNR (D) QQPAMDNR

I & ‘LEADER HT HHA 12-5-1-4-5-18 F T 1Y ‘LGHT’ BT 5T YHR fordi?

() 1296721 (d) 12-9-7-8-20 (4§) 12-8-6-4-21 (2) 12-9-7-8-21

If the word “LEADER' is coded as 12-5-1-4-5-18, how would you write ‘LIGHT?

(A) 12-9-6-7-21 (B) 12-9-7-8-20 (C) 12-8-6-4-21 (D) 12-9-7-8-21

e (9o 9. 3-4) : &) 1 " Avh F e uw T B
Direction (Q. 3-4) : Find the wrong term in the given number series.

3.

1, 8, 27, 125, 256, 343, 512

(@) 1 @) 27 (|) 256 (%) s12
56, 72, 90, 110, 132, 150
@) 72 @) 90 @) 110 (?) 150

TSPl BT TP HaR F Hag I 3R W 10 § WF R 3 afera o @R Q53 = W
& | WdY 3R afra @ Rl 9 Iga—agan @ | AR T Rufy § Wy Rt ok ¥
159 ®IM R &, a1 70 Rl § <rff aiR Q afera &1 e 28—

@) 10 | @ 114 @) 129 - (@) 13a

In a queue of boys, Sandeep-is 10™ from the left and Lalit is 5 fom the right. The places of
Sandeep and Lalit are interchanged. If the new position of Sandeep is 15* from the left, then
the new position of Lalit from the right is- :

@ 10%— ' (8) 11* @ (D) 13*

frdwr (e 9. 6-9) : ﬁW#MﬁW#WWW&W%EﬂMH#
ey <t frsed Ry v F ) et SR ST 2

(@) afe daa frad 198 2 (i)uﬁa?'daﬁmsfum’tﬁl
(@) 3k Frd 1aTna@Y 21 (2) 3fe s e 13k nwdY 2

Direction (Q. 6-9) : In these questions some relationships are shown with the help of statements. These
statements are followed by two conclusions. Give answer- .
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(A) if only conclusion | is true (B) If only conclusion It is true

(C) 'f either conclusion | or Il is true (D} If both conclusion | and Il is true
6.  Statements (FUF)H>I=J>K<L |

Conclusions ( 1555 ) IK<H 1. L>|

(@) A @) 8 @ c ®) o
/ Statements (®Y7) S>C>0, pP<C <

Conclusions (Frs¥l) 1.O<P 1. s>p -

@) A ) 8 - @) c SR
8. Statements ($UF) A=B<C, A>R :

Conclusions (FsF¥) 1LB>R 1. R<C :

(&) A (®) 8 () c ®) o
9, Statements (@A) P<Q>T, R>Q

Conciusions (F7<F¥) LR>P 1. T<R

(&) A () B (@) c (%) o
fAder e & 10—12) : 5 Ry ye=i # SR Ry v fm w® amfa £

Direction (Q. 10-12) : In the following answers are based on the diagram given below-

/2
1
1 7(6
/s 1l 4
v

(a1) mmﬁamﬁq‘iaﬁmm ©)) Pq'gﬁrmarﬁﬂu‘raﬁaaﬂmm

(|) g9 Eae! @) <ufar 2 (@) =t T B zwar B |
(A) The rectangle represents government employees. (B) The tria ngle represents urban peUple
(C) The circle represents graduates. (D) The square represents clerks.

10. =1 4 4 IF-u1 Tu wE 2-
(@) T TP FHEN Foe &
(@) =B TP FHAN FaP € 9y A U god o £
(@) I TP FHEN Eae ¥
(?) ¥ Toe TP FHERI ¥ W wae A6 ¥
Which of the following statement is true-
(A) All government employees are clerks.
(B) Some government employees are graduates as well as clerks.

(C) All government employees are graduates.
(D) All clerks are government employees but not graduagtes.
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1.

12.

(&) BB Fo® MDY FHAN B | @) = 39 | BE T&D T8 2|

(@) Wi e 1= A ¥ F @ i S MEd FHER 2
Choose the correct statement- '

(A) Some clerks are government employees. (B) No clerk is from urban areas.

(C) All graduates are from urban areas. (D) All graduates are government employees.

7 4 9 o W gie SRl B wen ot @ 2 S we ¥ we aad T8
2 it :

@) o (@4 (®) 10 (%) 5

Which of the follgwing numbers represent government employees, who are graduates but not
clerks? : 3

(A) 9 84 (€) 10 (D) 5

e (79 6. 13—14) : TEN B FF e ¢ R R Ry uw #7192

Direction (Q. 13-14) : Read the information carefully and answer the questions given below-

13.

14.

15.

(&) Px’ &1 3P, ‘T fiaT 21 @) ‘P @1 3f P, ‘@ BT gET 2|
(&) P+’ BT 3 P, @ B AT B (@) P+’ 1 3R P, Q' BT S B
(A) ‘PxQ’ means ‘P’ is the father of ‘Q’ (B) ‘P-Q’ means ‘P’ is the sister of ‘Q’.
(C) ‘P+Q’ means ‘P’ is the mother of ‘QY’. (D) ‘P+Q’ means ‘P’ is the brother of ‘Q’.
B+DxM:N ¥ M TPy e B Haltm 27 :

@) ot @) T (@) 9T (2) oKl o

In the expression B+ D x M = N, how is M related to B?

(A) Grand daughter (B)Son (C) Grandson (D) Grand daughter or Grand son
FRddsm i@ e Lrarg@e?

(@) J+R-RxF (@) J+R-TxF (@) J=M-NxF @) =% ¥ B T
Which of the following represents ‘I is the son of F'? s

(A) J+R—RxF (B) J+R-TxF () 1+M—=NxF . (D) None of these
U% ! HIeAR SUeX 1.00 991 T e 918 oo W@ off 3k Toar 29 1.00 ToF 2
e a1 | TR & S W wHE B9 feEr 8n?

(37) TTER gag 1.00 T . (@) TU9R gaE 500 T

@) €ER AR 100 a . (%) gEER AW 500 T

A watch is one minute slow at 1.00 pm on Tuesday and two minutes fast at 1.00 pm on Thursday.
When did it show the correct time? '

(A) 1.00 am on Wednesday (B) 5.00 am on Wednesday

(C) 1.00 pm on Wednesday (D) 5.00 pm on Wednesday



e (999 4. 16-17) THEN B AEYES geaR gE B IR T

Direction (Q. 20-21) : Read the information carefully and answer the question.

3l e A AR v el faem ¥ 3 5. word & | afve of fen oY 3R worr 21 3

aa#$araaﬁa?m#mﬁfam§w3a:3ﬁmaaa§|mggmwiﬂ%aﬁamﬁam
TS B B |
Two boys Anil and Shyam walk in opposite directions for 3 km. Anil is walking towards east. After 3 km.

each, both turn right and again walk 3 km. each. Both turn to face each other.

16, gM fog Qe & < @7 27

(37) wféror @) =Rorgd @) o () SR—uf¥em

In which direction Shyam is looking? ‘

(A) South (B) South-East (C) East (D) North-West
7. st fou faem % <@ wr &2 TR

@) SR (@) soe-ufem (W) uRem @) =fo-gd

In which direction Anil is looking?

(A) North (B) North-West (C) West (D) South-East

fder (U9 6. 18—20) : B! B =¥ | U IR IHI B SN S|

Direction (Q. 18-20) : Read the information carefully and answer the question.

B: AP, Q,R, S, THAR U Uh g0 ¥ T3 TER 3T 3R I8 IR AF-—9FF 38 2| pq @ I ot
81QT% S AR AR P afi AR do1 2 U & a7 3R 3R s & <t ol &)

Six persons P, Q, R, S, T and Us are sitting in a circle facing one another front to front. P is sitting in front of

Q. Quis sitting to the right of T and left of R. P is to the left of U and right of S.
18. R @ G DI 9971 27

@e - @ a (&) s @ u

Who is sitting infront of R? : :

(A) P (8) Q (€)s (D) u
19. S P GHA P 98T &2

(@) u @ @R (&) e T w1 Wb

Who is sitting infront of S?

(A) U (B) T . (O)R (D) Cannot be determined. _
2. P3IRR D & P a7 27 -

@) s @7 (@) u ® a

Who is sitting between P and R? _

(A) S (B) T (Qu (D) Q



vs 2 (Part 2)

Subject — General Knowledge " Questions: 10

21

22

23

24

25

26

27

AT F STol—bel TaoT gt § ST qu e ae R B 5 HROT 8-
(@) Woher R (3) o aeva (W) Rew RO () b arra

A major recent cause of innate and neuro disorders in newborn children in Brazil is -

(A) Variola major (B) Zika virus (C) Bacillus anthracis (D) Filo virus
TRy o FREet ERT W @ fhe wou @ Rfed e it e 27
@) M (@) Few () T (=) B
Which state was recently declared as the digital state by the President Pranab Mukherjee?
(a) Goa (b) Karnataka - {c) Gujarat (d) Kerala
NSG T T 1 & — |

(a1) gfeTaR AR d (@) gferar AfdT 9

(\) =gfoera dfeT gu () gfererar W U

The full form of NSG is -

(A) Nuclear supplier group (B) Nuclear saving group

(C) Nuclear setting group (D) Nuclear searching group
2016 B9 3N (HfReT wer) fackar &1 99 8-

(@) mfda TR (@) =R wnRrarar

(@) ¥ AR () mfERfr

Winner of the women'’s singles title in the French open 2016 is -

(A) Garbine Muguroza (B) Maria Sharapova (C) Serena Williams (D) Martina Hingis
BHNE @ e dAER g TAE # ggEsl R § e fear -
@) gt (@) T (%) ot 9 WS (3) Ao
Folk artist of Chhattisgarh, who was recently awarded the Padma Shri- :

(A) RituVerma (B) Mamta Chandrakar  (C) Suraj Bai Khande (D) TijanBai

42 df G-7 GRS 2016 BT JAISH fbg <o A 3

(@) PeTRT (@ ¥Ra (@) < (G) SR
The country where 42™ G-7 summit 2016 was organized- _

(A) Canada (B) India (C) Japan (D) Germany
ey AR @ o ¥

(3) G o (il) oy ' (0) guea R g (®) Terea aRfyar
The Chief of the Naval Staff (India) is- 3 :
(a) Sunil Lanba  (b) RajeshSingh  (c) Khushwant Singh Khurana (d) Baldev Chaurasiya

7



28

29

30

Subject -

31

32

33

aﬁmwmaﬁfaﬂaﬁﬁmm%mﬁmww%—

(%) I WX AT (@) I AT (@) G D () o o
Programme/Scheme run by Chhattisgarh Government under which milk is given to children-
(a) Sukhsagar Yojana (b) Amul Yojana (c) Sugandhit Yojana (d) Amrit Yojana

IAa F RBI B AR -

(30 =i S Py (@) St e S (W) S YeRm e (@) <f aEd Yo
Present Governor of RBI is- _

(a) Dr. D. Shubhrao (b) Dr. Bimal Jalan {c) Dr. Raghuram Rajan (d) Dr.YV. Reddy
qﬂ%ﬁu@%ﬁﬁmﬁmuﬂwaﬁwm%cmaﬁﬁ?

(31) wTEPNGE (4) To (¥) e - @) 7 Qo A
Which famous global company has appomted Sunder Pichai of Indian origin as its CEQ?

(@) Microsoft (b) Apple. (c) Google (d) None of these

9ug 3 (Part 3)
Teaching Aptitude Number of Question:10
Wawmﬁﬁu@amwma$tﬁwﬁahaﬂﬁm%qmﬁ—
(31) Res T TERe R T | @) v @ 9k T B
(\) R orEf @ av 99 ¥ w9 9P | (?) Rere v & sfeT=al 31 o1 w3 |

Before commencing teaching, previous knowledge of student should be tested so that-

(A) Teachers can entertain themselves. (B) Students do not make noise in the class.

(C) Teacher can control the students. (D)Teacher can know the pmblems of students.
U 325 HE JFRH W s 82— |
() =i e (3) frenPRit @1 W @ TRRREE ¥ Yo
(|) femeft grr we 7 & () o= o &1 9R &

Good classroom discipline implies-
(A) Total silence in the classroom (B) Students actively engaged in learning activities
(C) Students do not ask any question (D) Students making noise in the classroom

T B aftree Bl P G W aR e e sRar Frefie BN S 8

(&1) = fafdr (@) =af fafy .

(4) urcagws fafy - (=) sTm—sra 9l SuanT fafy

Maximum participation of students is possible in classroom teaching by following which method-
(A) Lecture method (B) Discussion method

(C) Textbook method (D) Using audio-visual teaching method.



- p

34

35

36

37

ﬁm‘:ﬁa%mqmm’rﬁaﬁmmﬂm%—

* (a1) Rerw @1 gl Bk ® (@) R T=t & B & @

(@) Riers Teal B wHH D () BT Mo ¥ FFST A W

Knowledge of child psychology is important for a teacher-
(A) It makes things easy for teacher (B) Teacher can become popular among students
(C) Teacher can understand students (D) students will not quarrel with each other

& & A St wfafed &1 S AR
(a)mﬁﬁaﬁwmqmaﬁuﬁamﬁaw
(@) ol # g @ Ui 94U B

(@) BF T T B

(@) B3 wfsa @ ShaT 3 AT R WD

Home work should be corrected everyday so that-

(A) Students get regular opportumttes to work on their weaknesses.
(B) Students become afraid of stud:es

(C) Students are kept busy.

(D) Students are prepared for future life.

U IS Ahd @, qfq qo—

(1) R @) GeraRerd M & WA Bl &

(8) T8 W UiGaHH O HRaT B
(ﬂ)ﬁﬂﬁﬁﬂﬁWﬁ%ﬁﬁﬁ#%WﬂﬂRW%l
(2) frenffl 3 Igar ARG FA # 7&K FH Bl -

A teacher is successful if she-
(A) Presents the subject matter in a well organized manner
(B) Completes the syllabus on time
(C) Prepares students to pass the exam.
(D) Helps students in becoming better citizens.
el BT WE SEavd BT Aey—
(a1) faremeft @ IRt @ X@ifea FET
@)a@mﬁaﬁﬁfaﬁmwwma‘»ml
(H)ﬁawﬁﬁmmﬁmﬁﬁwﬁmﬁvhﬁ#%gl
(@) & g TE
The main purpose of assessment should be-
(A) To point out the errors of the learner.
(B) To dtagnose gaps in learning and for remedy.
(C) To decide, if a student should be promoted to the next class.
(D) none of the above



38

39

41

42

43

el § Woae 9 Hiplad ST & Hee 3§ AYST AR 8-
(1) foenfefal & wgite Ao & fon ImEwEs 2

(8) TG B TRy

(@) afe wfeer Ureumy BN B quiE ¥ AGWES 8l ©

(@) S Wi

Your view upon the sports and extracurricular activities in your school is-

(A) Itis essential for psycho-motor development of students -

(B) It is simply waste of time

(C) Due to heavy course, it can be dropped

(D) All the above
mﬁtﬁf@ﬂ?ﬁfaﬁa\%mﬁm—mﬁaﬁmﬂﬁﬁ%lmwﬁﬁ?
(1) 99 RaciHl /@ #ft @ =78 3

(@) woa wae IR IS |

() ST ey waRy & Wicaifed BT T8 SH@T Selt B Sfua AW § yg B |
(2) S T b RaclHT @ 78 dre wfe

Kamini breaks toys and dismantles then to explore their components. What would you do?
(A) Never let Kamini play with toys.-

(B) Always keep a close watch on her.

(C) Encourage her inquisitive nature.

(D) Make her understand that toys should not be broken.

favegor 8— L -
(a1) ATeTTpa A STRET| (@) WRa—D1E A ugr THaT 2 |
(@) Sifee gd STRafE qs?t €) Swaa wi|
Teaching is- : :
(A) Comparatively less responsible. (B) ‘Simple —anyone can teach.
(C) Complex and highly responsible. (D) All the above.
€ vs 4 (Part4)
: R FA YTF—1!
iR safy T8 & - _
(@) @) = (@) @ =
T B ge ¥ 91 B o A 8 27 :
(@) = (@) & @R (@) =
Rt & afga ok gEa AT E?
(&) (@) PR (&) ot (=) weom
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45

46

47

48

45

51

T

53

55

fr=ifea # 4 -1 SRvg Bee I Gada T8 -

(@) g (@) wem () foram (@) wife # o T
a1 B W T ffolRaa & S 39wl -

@) =mff— 9T >Tmg i

@) safi— gt —efoamg -

@) Ef—aT — 95 sl

(®) 97 — waff-aag —ad—-faf

q, ¥, § vigE @ 6 oras § SR B -

(@) 3 3@ @ g d () wrea & (@) qut&

T TS Ui R AT ATSTHI FEAT & T R B 90T & aTelT Ja7 HEarm &7
(@) v (@) HeErs (®) 998 (&) s & P T
| & TERl /gl ww e 2 -

©)R:E (@) agva (@) <o () feeh
mammﬁw%m%ﬁﬁaﬁﬁaﬁmmﬁﬁaﬁﬁmﬁ%lwq&é
Frifea 4 & f6a o ¥ ad-inma sy 2 _

(a) <aredt (@) srofiaesr (@) smm (&) IrgTéa

fbg Turg ¥ T & T Tt # 3 RN Y werear w9 o, <1 o O € sk oy
e o1 I HRIA F | OR—EEIER aefd FE @ e W W) = vigw

@) g8 WA (@) Tghet W (®) oM W () ARgew WA
fora sz & &, W, gon, @y anf} wHMe @) e AT o 2, 9 PR i
(@) vy AeFaem (@) Aecqams (H)m‘sﬂmmu (@) faemfeas
RT T &1 Y fR{uw 8- T

@) N+ @ -+ (H)‘F'T.+?T:l @ A+ @
Ry Ty wet # | P v Suwig w6 -
(&r) Framw @) Fra () forer (@) fmr

fow B3 7 wer 3R qdiE w0 A 11-11 9 fir i agef wRor  13-13 wEd <Ecd
3

(&r) e (@) ?ﬂ'\’fﬂ & (&) e (<) <

A Ry 0 wedt A Wl i B—

(1) wafed CIRSPEIR (@) |Er () wqfea

11



&g 5 (Part5)

English _ ' Questions: 15
For questions (56-62), choose the most suitable option to fill in the blank:
56 A committee was formed 10 100K ....ouereaseniccmmcensenes the museum.
(a) after (b) for (c) like (d) at
57 India’s educational system should .......cccoecereucrnceens regard for the great cultural value of her past.
(a) reflect (b) redeem (c) redirect (d) regenerate
_53 The builders are ...................§00d Progress with the new house. :
(a) getting (b) doing (c) making 2 _(d] taking
59 The SNOW WS ..coverseranssnesncs heavily when I left the house. '
(a) dropping (b) falling '(c} landing (d) descending’
60 Don’t forget to turn off .......... s lights when you go out.
(a) an - (b)a _ (c) the (d) tube
61 My father .........coooeeeees his new car for two weeks now.
(a) had (b) have (c) is having (d) has had
62 Kindly ...ocooenmnsseeess your shoes before entering the temple.
-_ (a) put off (b) putout (c) take of . (d) take off

Question (63-64), give the correct synonym
63 “Abandon”

(a) Give-on (b) Give-in (c) Give-up (d) Give-out
64 “chicken hearted” .
(a) cowardly _(b) fearlessly (c) bravely (d) sincerely

For the questions below (65-67), please choose the best option to oomplete the sentence or conversation:
65 When can we meet? :

(a) When are you free? (b) It was two days ago- (c) can you help me? (d) Last week.’
66 I just bought a new car. . I‘ - j

(a) How are you? (b) Whatisits colour? (c) Are you happy? {(d) Doyou like cars?
67 My uncle is going to stay with me. s

(a) How is he? (b) How was it? (c) Howold is he? (d) For how long?
Read the passage. Then answer the questions below. :

When you buy a car, examine carefully the important features of the model you are considering.
Many a buyer of the latest model has got into trouble by buying a car too broad or too long for his garage.
Furthermore, a long car is too hard to manage in traffic and too difficult to park. Another feature is the
comfort afforded. Are the seats nice and durably upholstered? Is there enough glass to give the driver a
good view in all directions, particularly to the rear? It should be remembered that the heavier and more

12



the more expensive it will be to Operate. High powered motors require expensive high
' octane petrol, The greater weight means Breater tyre wear and enlarged brakes. The old cliche is still true:
itis not the initial cost but the upkeep which matters,
68 The writer favours a car with a wide glass areas so that the driver can;

(a) em"oy the scene outside while driving

(b) have a good view of the rear
(c) roll down the glass panes to get-enough fresh air
(d) display his beautiful upholstery with pride

69  Alongcaris too hard to manage;

(a) in garden (b) in traffic ft‘:} in cinema hall (d) in shoppin_g mall
70 According to thig passage, ﬁe two factors that the buyer of a new car should keep in mind are;
(a) its price & size (b) its model & upholstery
(c) Its size & the comfort it offérs  (d) its upholstery and glass area
YU 6 (Part 6)
Psychology Questions: 15

71 ma%%mﬁméWﬁmﬂm%— |

Attending to the working of one’s own mind in a systematic manner is-

(A) Introspection (B) Case history (C) Anecdotal (D) Sequential Design
72 TS B aeR W T Javer Bxfy &—

(GT)W'\‘EI‘IB—%‘TIEFW‘:' @) 5= ¥ 12912 T

(8) 1 & 36 71 e @2d7af

According to Piaget, the sensorimotor period is from:

(A) Birth to 18-24 months (B) Birth to upto 12 Months

(C) Birth to 36 Months (D)2to7 Years

73 I IPE e B fevwar T8t 2
@) fRvaatar (@) derar W)Mﬁwaﬂvmma(a)mbﬂw

Which is not a characteristic of a good intelligence test-
(A) Reliability (B) Validity (C) Universality and innate (D) Comprehensiveness

74 eIl Ry Wiy 3

Dyslexia is related to- .
(A) Behaviour related disorder (B) Mental disorder
(C) Mathematical disorder (D) Reading disorder

13



75

76

77

78

79

81

82

R FAfASE B P o

CEIGED (@) R (W) uregHH (€) feenea
Centre of the ‘Educational Psychology’ is-

(A) Child . (B) Teacher (C) Curriculum (D) School
frares ToETt S 8-

() Tt @ ford (8) et & ferd (©) st & ford (o) & o

performance tests are useful for-
(A) Children - (B) llliterates (C) Deaf & Dumb (D} For All
Wﬂ@qﬁﬁ&rﬁﬁwmaﬂﬁm%ﬂ

(o) Hasga (@) T (\) @< <fa - (&) urieE®

Learning is configuration- wholeness of the situation. This view is

(A) Mc-Dougall (B) Gestalt (C) Kurt Lewin (D) Thorndike
aﬁﬂﬁamwﬁa&r%maﬁmﬁam#mqmﬁﬁm%—
CIERIRIES @) soges 1 (W) aeREs TR Q) TR A
Which of the following is a Psychological factor influencing development of Personality-

(A) Will power (B) Adrenal Gland (€) Thyroid Gland (D) Body Chemistry

AT YEAEE gieal 8-

(aq)ﬁrqqaﬁ‘\laﬁﬁft_(a)aﬁvamqﬁ’le—«s' (@) = R SIGERERISE

Social Constructivism view is-
(A) GiambattistaVico (B) Von Gleserfield (C) Jean Piaget (D) Lev Vygostky
mﬂﬂa%_ajﬂﬂ@ﬂmmmﬁﬁ@ﬁmwmaﬁ%—

- (af) T el (@) araifdiendr @) 7% TRRS (E)m

Which of the following is not on Lovell’s list of Maladjustment behavior: - :
(A) Discipline related (B) Heredity (C) Psycho-Somatic (D) Emotional

m@,mmmﬁﬁ'ﬂ@ﬂﬁm%—
(@r) sERS e (5) ToR® wred  (9) FEH (@) BHs

The ability to balance emotions, yvishes and temperament is -

(A) Mental Health  (B) Physical Health  (C) Exercise (D) Sports
2E R e SR T §- -
(a)z—uaﬁazrgaﬁfﬁﬁm (a) fpeivmaRen @ forg

(8) 91 & feme (@) 7 ¥ B T
Stanford Binnet Test is made for-
(A) 2-14 Years age group (B) Adolescent (C) Army (D) None of these
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85

PRI & ygErRwS yfmE @ yfuiRa w3 &1 9 ———) W 2

@) Wi dfew  (3) O Yo (W) ReRw 92 (2) S ¥ @ B
The behavioral model of viewing disorders was proposed by-

(A) John Watson (B) Ivan Paviov (C) Wilhelm Wuﬁtit (D) None of these
frfaRaa fawedl # | @19 1 AEHYE BT J>iGT HA qTel HTP 8—

(@) sreTarRy @) s e () TR (]) TR
Which of the following alternatives is the evaluative component of self concept

(A) Self efficacy (B) Self monitoring (C) Self esteem (D) Self consciousness
s @ gaR Tear wa gE g BT A 8- :

(@) 7t s (@) ot Wogm (W) g I (]) S W
According to Piaget a child first learns-

(A) Concrete concept (B) Abstract concept (C) Object concept (D) All of the above

quE 7 (Part7)

Pedagogy Number of Questions: 15

86

87

Reror ¥ fafr=r Rweror Rt &1 yavm amEe =17 oy
(a) REor 3 e | wHER @ o) (b)ﬁmwaﬁﬁmaﬂﬁzﬁm
(c) BTEI HT &I AThfa He B ford (d) 379 & i ;
Why should we use different methods while teaching?

(a) In order to make teaching easily understood

(b) In order to make teaching more interesting

(c) In order to attract the attention of students

(d) All of these

ot % wfpaa & Rigia’ &1 @ aef 22
(a)ﬂhﬁﬁmﬁmmaﬁ%aﬁmaﬁ

(b) Rers Fem F wfpy <&

(c) BT Wihd B | IT I W@ & A6 et

(d) SR Tf

What is the meaning of the term “active classroom” in education?

(a) Active students should be kept _busy in work to maintain discipline,

(b) The teacher should be very active in class =

(c) Students are active. They should be given opportunities to learn by doing.

(d) All of these
ﬁmﬁﬁgﬁuﬁuﬁmﬁﬁmmﬁmm@mwuﬁ
(a) TIRY (b)  IATTE (c) AR - (d):ﬁﬂ
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91

92

93

Where was the first training school opened for imparting the basic education training to teachers?

(a) Banaras ~ (b) Aligarh- (c) Nagpur (d) wardha
frr Ay 3 Rweor & 3 87

(a) ERe ¥ WG @ AR (b) W ¥ fafdme &1 AR

(c) ©F ¥ G B IR (d) O & BT BT AR

What is deductive method in education?

(a) From general to specific (b). From specific to general

(c) From macro to micro (d) From easy to difficult

Ay @1 Sfed s9ud ;187

(a) TS B @Har  (b) AT AT g TN B FWI (d) T A B TR

What is a compulsory element of learning?

(a) Ability to read (b) Bright mind (c) curiousity to learn (d) None of these
F G g AT & 5 SF G @ A | A 82 :

(a) anediae (b) TAT TAREIE () TR (d) TPfars

Which school believes that all knowledge comes through the senses?

(a) !dealism (b) Sense realism (c) Pragmatism (d) Naturalism .
g B orEd PIUA @ Abed WA B AWAPT & |
(ar) =feraan (d) FeaTtierar (@) Rl @1 waE () FFE T
The least important factor in assessing writing skills in children is:

(a) Originality (b) Imagination (c) Flow of thoughts  (d) correct Spellings
T F) Bl A '

(@) Renfidl ®1 wda w9 ¥ T@ T DY ANRY
(a)aﬁﬁgfa%amwﬁaﬁ%ugwrﬁﬁﬁ%

() Rl & o Feaql €

() Rrers @Y 2N BT BT NG BN ALY

in a good classroom-

(A) The learners need not reason independently

(B) What children learn out of the school is irrelevant

(C) The experience of learner is important

(D) The teacher should always lead the class

fre & @ 3 QPR WAEE ¥ T 98 8

(@) ST AR 9 §RT T S 8
@)ﬁqﬂ@ﬁﬂémmﬁwaﬂmm%mﬁmﬁﬁmmaﬁq
(ﬁ)ﬁaaaﬁvﬂﬁmmﬁqmﬁﬁﬁa‘;mﬁé\fﬁ%
@)mwﬁm%m@mﬁmwﬁwa%m#maﬁq
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95

96

97

Which of the following statements cannot be considered as a feature of constructivism-

(A) Knowledge is actively created by learners

(B) Learners have different learning style and teaching process should accommodate these

(C) Teacher is in a role of facilitator

(D) Learning is change in behavior and learning objectives are defined in terms of behaviour
changes -

Tofe wR W T g F @ eaied § wiied 8-

() frenidt g/1 A1 W Al wEa 3l A EEE FA

@) faenfiial @1 ¥s (3ief) g==

(@) W ¥ i ol Rueor § Sl # gEE FE

(@) fenfidl &1 Y& 95 He

Formative assessment in mathematics at primary level includes-

(A) Identification of common errors done by students

(B) Grading of students

(C) Identification of learning gaps and deficiencies in teaching

(D) Ranking of students

|E 7gA # Yo & ‘ |

(@) mrat BT oot @ S (€) aoiHTeT @1 qEEE

@) o gu o1 ok wEeR faErl 9§ S 9 () fore g @ Ug U

Reading is actually:

(a) Breaking words into letter before speaking

(b) Recognizing and reciting the alphabet

(c) Understanding what is written and being able to connect it to own thoughts

(d) Being able to read what is written

e ¥ fenfial @ afdmw - _

(a)wﬁ%.ﬂ%ﬁmﬁﬁﬁﬁaawmﬁaﬁﬁﬁﬁmmaﬁm

(8) amErS Tl Fiifs 51 & fenffar ¥ amuw ¥ wkrewi S Bxi B

(ﬂ):ﬂgﬁﬂﬁfa.aﬁﬁiﬁﬁnﬁ%m-mﬁmﬁa%maﬁma%
RIFGRYT B TS T B & | :

() T & it A Reid A deETes Wl B e § e @1 aRa
ook G s

Diverisity and heterogenity in the classroom and children:

(A) Is not advantageous as teachers needs to control a diverse classroom '

() Is not beneficial as it leads to competition within students
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98

99

100

(C) !s not suitable as it reduces the speed of curriculum transaction to the level of the slowest

learner

(D) Isadvantageous as it mqti\fates teacher to exblore_ cognitive structures of students

R wAER FT 98 EET G FET B rauHal g e St o Wity d v

SRS W T Y& B B |

(a1) geA fveror (@) Reor P (W) FgeE

(]) SurtH

The nature of teaching behavior which provides attainment of teaching goals and ease of learning

of students through classroom interaction is-

(A) Micro teaching (B) Teaching skills (t) Instructions

Ryeror =R @1 = § ¥ PA-w B T 27

(@) TS (@) STERETS (|) YRS
Which of the following is not a function of teaching variables-

(A) Diagnosis (B) Remedial : .~ (€) Propaganda
SR P FfE F A T BRD BI-DIT § &7

(1) sraggdany, afgRy, B, amed

(2) wmeTe Refdy, airepte, sweam® Bl D

(3) wferafivar, wafe &1 S, Bl & w4

(a) ufereit v TWYer, faenerg @1 ararEReT
@133 @1.293 - (@) 294
Key component which effect motivation are-

(1) Needs, attitude, Interest habits

(2) Emotional conditions; aspiration role of teacher

(3) Competition, knowledge of progress fear of failure

(4) Discussion and seminars, environment of school
(A)1and 3 (B)1,2and 3 (C)2and 4
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(D) Approach

(2) Tt

(D) Evaluation related

() 1,2 374

(D)1,2,3and 4
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